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Chip 0 Vt50 at 2.00fC Nent = 128    
 0.3545 ±Constant = 3.274 

 0.6892 ±Mean     = 119.1 

 0.4873 ±Sigma    = 7.798 

Chip 0 Vt50 at 2.00fC Nent = 128    
 0.3545 ±Constant = 3.274 

 0.6892 ±Mean     = 119.1 

 0.4873 ±Sigma    = 7.798 
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Chip 1 Vt50 at 2.00fC Nent = 128    
 0.3459 ±Constant = 3.181 

 0.7095 ±Mean     = 117.7 

 0.5021 ±Sigma    = 8.027 

Chip 1 Vt50 at 2.00fC Nent = 128    
 0.3459 ±Constant = 3.181 

 0.7095 ±Mean     = 117.7 

 0.5021 ±Sigma    = 8.027 
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Chip 2 Vt50 at 2.00fC Nent = 128    
 0.3273 ±Constant = 3.024 

 0.7462 ±Mean     = 119.7 

 0.5275 ±Sigma    = 8.442 
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 0.3273 ±Constant = 3.024 

 0.7462 ±Mean     = 119.7 

 0.5275 ±Sigma    = 8.442 
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Chip 3 Vt50 at 2.00fC Nent = 128    
 0.3538 ±Constant = 3.268 

 0.6905 ±Mean     = 118.8 
 0.4883 ±Sigma    = 7.812 
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 0.3538 ±Constant = 3.268 

 0.6905 ±Mean     = 118.8 
 0.4883 ±Sigma    = 7.812 
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Chip 4 Vt50 at 2.00fC Nent = 128    
 0.3509 ±Constant = 3.242 

 0.6961 ±Mean     = 119.2 
 0.4922 ±Sigma    = 7.876 

Chip 4 Vt50 at 2.00fC Nent = 128    
 0.3509 ±Constant = 3.242 

 0.6961 ±Mean     = 119.2 
 0.4922 ±Sigma    = 7.876 
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Chip 5 Vt50 at 2.00fC Nent = 128    
 0.3265 ±Constant = 3.016 

 0.7483 ±Mean     = 119.7 
 0.5291 ±Sigma    = 8.467 
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 0.3265 ±Constant = 3.016 

 0.7483 ±Mean     = 119.7 
 0.5291 ±Sigma    = 8.467 
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Chip 0 Gain at 2.00fC Nent = 128    

 2.389 ±Constant = 22.07 
 0.1023 ±Mean     = 52.54 
 0.0723 ±Sigma    = 1.157 
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Chip 1 Gain at 2.00fC Nent = 128    

 2.348 ±Constant = 21.69 
 0.1041 ±Mean     =  52.2 
 0.07358 ±Sigma    = 1.177 

Chip 1 Gain at 2.00fC Nent = 128    

 2.348 ±Constant = 21.69 
 0.1041 ±Mean     =  52.2 
 0.07358 ±Sigma    = 1.177 
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Chip 2 Gain at 2.00fC Nent = 128    

 2.781 ±Constant = 25.69 
 0.08786 ±Mean     = 51.64 
 0.06212 ±Sigma    = 0.994 
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 2.781 ±Constant = 25.69 
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 0.06212 ±Sigma    = 0.994 
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Chip 3 Gain at 2.00fC Nent = 128    
 2.662 ±Constant = 24.59 

 0.09178 ±Mean     = 53.19 

 0.06489 ±Sigma    = 1.038 
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 2.662 ±Constant = 24.59 

 0.09178 ±Mean     = 53.19 

 0.06489 ±Sigma    = 1.038 
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Chip 4 Gain at 2.00fC Nent = 128    
 2.672 ±Constant = 24.68 

 0.09145 ±Mean     = 52.79 

 0.06466 ±Sigma    = 1.035 

Chip 4 Gain at 2.00fC Nent = 128    
 2.672 ±Constant = 24.68 

 0.09145 ±Mean     = 52.79 

 0.06466 ±Sigma    = 1.035 
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Chip 5 Gain at 2.00fC Nent = 128    
 2.057 ±Constant =    19 
 0.1188 ±Mean     = 52.27 

 0.08399 ±Sigma    = 1.344 

Chip 5 Gain at 2.00fC Nent = 128    
 2.057 ±Constant =    19 
 0.1188 ±Mean     = 52.27 

 0.08399 ±Sigma    = 1.344 
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Chip 0 Extrapolated Offset Nent = 128    
 1.213 ±Constant = 11.21 

 0.6444 ±Mean     =    14 
 0.4556 ±Sigma    = 7.291 

Chip 0 Extrapolated Offset Nent = 128    
 1.213 ±Constant = 11.21 

 0.6444 ±Mean     =    14 
 0.4556 ±Sigma    = 7.291 
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Chip 1 Extrapolated Offset Nent = 128    
 1.223 ±Constant =  11.3 

 0.6391 ±Mean     = 13.31 
 0.4519 ±Sigma    =  7.23 
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 1.223 ±Constant =  11.3 

 0.6391 ±Mean     = 13.31 
 0.4519 ±Sigma    =  7.23 
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Chip 2 Extrapolated Offset Nent = 128    
 1.075 ±Constant = 9.934 

 0.7269 ±Mean     = 17.04 
 0.514 ±Sigma    = 8.224 
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 1.075 ±Constant = 9.934 

 0.7269 ±Mean     = 17.04 
 0.514 ±Sigma    = 8.224 
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 1.122 ±Constant = 10.37 
 0.6966 ±Mean     = 12.11 
 0.4926 ±Sigma    = 7.882 
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 1.122 ±Constant = 10.37 
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 0.4926 ±Sigma    = 7.882 
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Chip 4 Extrapolated Offset Nent = 128    

 1.191 ±Constant = 11.01 
 0.6562 ±Mean     = 13.28 
 0.464 ±Sigma    = 7.424 
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 1.191 ±Constant = 11.01 
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 0.464 ±Sigma    = 7.424 
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Chip 5 Extrapolated Offset Nent = 128    

 1.031 ±Constant = 9.524 
 0.7583 ±Mean     = 15.18 
 0.5362 ±Sigma    = 8.579 

Chip 5 Extrapolated Offset Nent = 128    

 1.031 ±Constant = 9.524 
 0.7583 ±Mean     = 15.18 
 0.5362 ±Sigma    = 8.579 
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Chip 0 Input Noise at 2.00fC Nent = 128    
 4.952 ±Constant = 45.75 

 3.289 ±Mean     =  1552 

 2.325 ±Sigma    = 37.21 

Chip 0 Input Noise at 2.00fC Nent = 128    
 4.952 ±Constant = 45.75 

 3.289 ±Mean     =  1552 

 2.325 ±Sigma    = 37.21 
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  4.07 ±Constant =  37.6 

 4.002 ±Mean     =  1590 
 2.829 ±Sigma    = 45.27 
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  4.07 ±Constant =  37.6 

 4.002 ±Mean     =  1590 
 2.829 ±Sigma    = 45.27 
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Chip 2 Input Noise at 2.00fC Nent = 128    
 5.057 ±Constant = 46.72 

  3.22 ±Mean     =  1583 

 2.277 ±Sigma    = 36.44 
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 5.057 ±Constant = 46.72 

  3.22 ±Mean     =  1583 

 2.277 ±Sigma    = 36.44 
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 5.235 ±Constant = 48.36 
 3.111 ±Mean     =  1527 
   2.2 ±Sigma    =  35.2 
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 5.235 ±Constant = 48.36 
 3.111 ±Mean     =  1527 
   2.2 ±Sigma    =  35.2 
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Chip 4 Input Noise at 2.00fC Nent = 128    

 5.493 ±Constant = 50.75 
 2.965 ±Mean     =  1535 
 2.096 ±Sigma    = 33.54 
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 5.493 ±Constant = 50.75 
 2.965 ±Mean     =  1535 
 2.096 ±Sigma    = 33.54 

Input Noise (ENC)0 500 1000 1500 2000 2500

n
(C

h
an

n
el

s)

0

5

10

15

20

25

30

35

40

Chip 5 Input Noise at 2.00fC Nent = 128    

 4.208 ±Constant = 38.87 
  3.87 ±Mean     =  1564 
 2.737 ±Sigma    = 43.79 
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 4.208 ±Constant = 38.87 
  3.87 ±Mean     =  1564 
 2.737 ±Sigma    = 43.79 
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Chip 0 Vt50 at 2.00fC Nent = 128    
 0.3451 ±Constant = 3.188 

 0.7079 ±Mean     = 119.4 

 0.5006 ±Sigma    = 8.009 

Chip 0 Vt50 at 2.00fC Nent = 128    
 0.3451 ±Constant = 3.188 

 0.7079 ±Mean     = 119.4 

 0.5006 ±Sigma    = 8.009 
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Chip 1 Vt50 at 2.00fC Nent = 128    
 0.3714 ±Constant = 3.431 

 0.6578 ±Mean     = 117.5 

 0.4651 ±Sigma    = 7.442 
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 0.3714 ±Constant = 3.431 

 0.6578 ±Mean     = 117.5 

 0.4651 ±Sigma    = 7.442 
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Chip 2 Vt50 at 2.00fC Nent = 128    
 0.3533 ±Constant = 3.259 

 0.6925 ±Mean     = 118.6 

 0.4897 ±Sigma    = 7.834 

Chip 2 Vt50 at 2.00fC Nent = 128    
 0.3533 ±Constant = 3.259 

 0.6925 ±Mean     = 118.6 

 0.4897 ±Sigma    = 7.834 

Vt50 (mV)80 90 100 110 120 130 140 150 160 170

n
(C

h
an

n
el

s)

0

1

2

3

4

5

Chip 3 Vt50 at 2.00fC Nent = 128    
 0.3349 ±Constant = 3.094 

 0.7294 ±Mean     = 122.2 
 0.5158 ±Sigma    = 8.253 

Chip 3 Vt50 at 2.00fC Nent = 128    
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 0.5158 ±Sigma    = 8.253 
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Chip 4 Vt50 at 2.00fC Nent = 128    
 0.1495 ±Constant = 1.334 

 1.739 ±Mean     = 61.19 
 1.412 ±Sigma    = 19.16 
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 0.1495 ±Constant = 1.334 

 1.739 ±Mean     = 61.19 
 1.412 ±Sigma    = 19.16 
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 0.3386 ±Constant = 3.128 

 0.7215 ±Mean     = 121.2 
 0.5101 ±Sigma    = 8.163 

Chip 5 Vt50 at 2.00fC Nent = 128    
 0.3386 ±Constant = 3.128 

 0.7215 ±Mean     = 121.2 
 0.5101 ±Sigma    = 8.163 
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 2.749 ±Constant = 25.39 
 0.08888 ±Mean     = 52.43 
 0.06285 ±Sigma    = 1.006 
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 2.563 ±Constant = 23.67 
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 0.0674 ±Sigma    = 1.078 
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 2.179 ±Constant = 20.13 
 0.1121 ±Mean     = 53.83 
 0.07926 ±Sigma    = 1.268 
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  2.42 ±Constant = 22.35 
 0.101 ±Mean     = 53.56 

 0.07139 ±Sigma    = 1.142 
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  2.42 ±Constant = 22.35 

 0.101 ±Mean     = 53.56 

 0.07139 ±Sigma    = 1.142 
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Chip 4 Gain at 2.00fC Nent = 128    
 0.3121 ±Constant =  2.87 

 0.7896 ±Mean     =  28.8 

 0.5677 ±Sigma    = 8.901 
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 0.3121 ±Constant =  2.87 

 0.7896 ±Mean     =  28.8 

 0.5677 ±Sigma    = 8.901 
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 2.356 ±Constant = 21.77 

 0.1037 ±Mean     =  54.8 

 0.07331 ±Sigma    = 1.173 
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 2.356 ±Constant = 21.77 

 0.1037 ±Mean     =  54.8 

 0.07331 ±Sigma    = 1.173 
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 1.075 ±Constant = 9.931 

 0.7272 ±Mean     = 14.74 
 0.5142 ±Sigma    = 8.227 
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 0.5142 ±Sigma    = 8.227 
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 1.185 ±Constant = 10.95 

 0.6598 ±Mean     = 12.93 
 0.4665 ±Sigma    = 7.464 
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 1.185 ±Constant = 10.95 

 0.6598 ±Mean     = 12.93 
 0.4665 ±Sigma    = 7.464 
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 1.202 ±Constant =  11.1 

 0.6504 ±Mean     = 10.66 
 0.4599 ±Sigma    = 7.359 
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 1.202 ±Constant =  11.1 

 0.6504 ±Mean     = 10.66 
 0.4599 ±Sigma    = 7.359 
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 1.093 ±Constant =  10.1 
 0.7152 ±Mean     = 14.87 
 0.5057 ±Sigma    = 8.091 
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 1.093 ±Constant =  10.1 
 0.7152 ±Mean     = 14.87 
 0.5057 ±Sigma    = 8.091 
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Chip 4 Extrapolated Offset Nent = 128    

 0.9461 ±Constant = 8.739 
 0.8263 ±Mean     = 4.114 
 0.5843 ±Sigma    = 9.349 
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 0.9461 ±Constant = 8.739 
 0.8263 ±Mean     = 4.114 
 0.5843 ±Sigma    = 9.349 
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 1.096 ±Constant = 10.13 
 0.713 ±Mean     = 11.25 
 0.5042 ±Sigma    = 8.067 
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 1.096 ±Constant = 10.13 
 0.713 ±Mean     = 11.25 
 0.5042 ±Sigma    = 8.067 
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Chip 0 Input Noise at 2.00fC Nent = 128    
 5.893 ±Constant = 54.44 

 2.764 ±Mean     =  1582 

 1.954 ±Sigma    = 31.27 
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 5.893 ±Constant = 54.44 

 2.764 ±Mean     =  1582 

 1.954 ±Sigma    = 31.27 
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Chip 1 Input Noise at 2.00fC Nent = 128    
 5.012 ±Constant = 46.29 

  3.25 ±Mean     =  1571 

 2.298 ±Sigma    = 36.77 
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 5.012 ±Constant = 46.29 

  3.25 ±Mean     =  1571 

 2.298 ±Sigma    = 36.77 

Input Noise (ENC)0 500 1000 1500 2000 2500

n
(C

h
an

n
el

s)

0

5

10

15

20

25

30

35

40

Chip 2 Input Noise at 2.00fC Nent = 128    
 4.359 ±Constant = 40.26 

 3.737 ±Mean     =  1509 

 2.642 ±Sigma    = 42.27 
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 4.359 ±Constant = 40.26 

 3.737 ±Mean     =  1509 

 2.642 ±Sigma    = 42.27 
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Chip 3 Input Noise at 2.00fC Nent = 128    

 4.368 ±Constant = 40.35 
 3.728 ±Mean     =  1541 
 2.636 ±Sigma    = 42.18 
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 4.368 ±Constant = 40.35 
 3.728 ±Mean     =  1541 
 2.636 ±Sigma    = 42.18 
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Chip 4 Input Noise at 2.00fC Nent = 128    

   1.2 ±Constant = 11.09 
 13.57 ±Mean     =  1365 
 9.596 ±Sigma    = 153.5 
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   1.2 ±Constant = 11.09 
 13.57 ±Mean     =  1365 
 9.596 ±Sigma    = 153.5 

Input Noise (ENC)0 500 1000 1500 2000 2500

n
(C

h
an

n
el

s)

0

5

10

15

20

25

30

35

40

45
Chip 5 Input Noise at 2.00fC Nent = 128    

 4.839 ±Constant =  44.7 
 3.366 ±Mean     =  1530 
  2.38 ±Sigma    = 38.08 

Chip 5 Input Noise at 2.00fC Nent = 128    

 4.839 ±Constant =  44.7 
 3.366 ±Mean     =  1530 
  2.38 ±Sigma    = 38.08 
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